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Worksheet 2.6 — Fill-In Proofs Page 1

Given: A3 and £2 are supp 45s

Prove: 1 = 43

1. 43 and 42 are supp &s 1.
2. m4a1 +m42 =180 2.
3. 41 and 42 are supp 4s 3.
4. 41 = 43 4,
2
c
1l 2 Given: AC 1 BC;
41 and 43 are comp 4s
4 L 5 Prove: 42 = 43
1. AC L BC 1.
2. 41 and £2 are comp 4s 2.
3. 41 and 43 are comp 4s 3.
4. 42 = 43 4.
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¢ Given: m41 = m42;
g b m43 = m44
Prove: OC L AE
1|2
pA 3 4 Py
A 0 E 7
1. m41 = m42; 1.
m43 = m4i4
2. mi1 +m43 =m42 + m44 2.
3. m41 +m43 = m4AOC; 3.

4,

m42 + ms4 = m4COE

m4AOC = m4COE 4,

0OC L AE 5.
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Q Given: 0Q L SV;
OR LPT
NE
1 Prove: 41 = 43
<o 0
R
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Y s T
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1. 00 1L SV; 1.
OR L PT
2. m4Q0V =90; 2.
m4ROP = 90
3. m4Q0V = m42 +m43; 3.
Mm4AROP = m41 + m42
4. 90 = m42 +m43; 4.
90 = m41 + m42
5. 42 and 43 are comp 4s; 5.
41 and 42 are comp 4s
6. 41 = 43 6.
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